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Reinforcement Learning
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Figure: The agent-environment interaction in a
Markov decision process [Sutton, R.S., Barto, A.G
Reinforcement Learning: An Introduction (1998)]
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Reinforcement Learning

Value & Q-Value Function
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Value & Q-Value Function
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Figure: The agent-environment interaction in a
Markov decision process [Sutton, R.S., Barto, A.G
Reinforcement Learning: An Introduction (1998)]

Minimise: )
J = (Q(St, At) — Re(St, Ar) — ¥ max Q(St41, At11))
t+1
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Minimise:

Value & Q-Value Function

)
VR(S) = B Yoo Reuils = 5

i—0
Q(St, At) = Re(St, Ar) +v max Q(St+1,At41)
t+1

J = (Q(St, At) — Re(St, Ae) — 7 max Q(Se+1, Aci1))?
t+1

Update Equation:

Q(St, At) = Q(St, Ar) + G(Q(St, At) - Rt(St, At) - Tax Q(5t+1, At+1))

t+1
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Minimise: )
J = (Q(St, At) — Re(St, Ar) — ¥ max Q(St41, At11))
t+1
Update Equation:

Q(St, At) = Q(St, Ar) + a(Q(Se, At) — Re(Se, At) — max Q(St+1, At1))

t+1
Simplistic Reward Scheme:
T+t
Re = —AdBluej — c1(NH3); — (NOx); or Ry =...?
Jj=t
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Simpler Toy Problem
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